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Z5BER English version
If you pile some balls which diameter is
90cm and height is 168cm, that would be
the reason of what if you pile some balls
which diameter is 30cm, height would be
55.98cm.
There is a side of a figure triangle which
height is 25.98cm.
Height of it, 25.98cm added into 30cm of
diameter, it’s going to be 55.98cm.
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This is supposed to be that some balls
whose diameter is 150cm are piled. Then
height is 273cm.

Height would be 54.33cm if diameter is
30cm.

However, if you see a object as a perfect
tetrahedral whose diameter is 30cm,
height would be54.492cm which is added
into 30cm of diameter.

% WE. R

LW - SEDORE - B8
F&& Summary

-The height that pile balls of the same diameter-

epl ot g L,

ik DAERIY | e B = E = e ATl

< 2\‘5‘0;2 @) e KWRMBrIGE —BFFER
% '5‘ 2 !? z 7i é‘z

}yig‘%ié%%\@g;}i;é ?%\5??;%5&&\ Keyword 145 F# I

ESEit $ESGLEL- S T3 = b

{fggii g%’ai? nggix;g ’{ fﬁPythagorean theorem

BX 333l oz 1§ ey g

e 7% ii‘.‘ﬁé ’7&*‘; T 8 a

R o i = HFHRNS Mathematical content

IESR0 13. 5 YR 1 6 3 DDA AT TR I ATBIC S Tl OERZ

W5,
=M 0em7Zh, B\ EIE

90°=45%+%"
x%=8100-2025=6075

A
2> 07EMBE, X=45\\‘3=45x1. 73=77. 85 ey
EZ90cmIE30emD3fEFM S, .

77.85+30X 3=167.85=168
&2 T, BEEIL168cm, 5R65T =168emklY, M EZ 45,

RO EFEATTE L IENEERZFHT 5,

ENEAEOERIZIE=AFETHLND,

o & TH A AR AT EREE S Ly,

EoT, EEEE—MNLCh D, , ——
EZfABOREZENENE 0° ThDHb,

SEHOERLY, BmEFL 5,3

L5, 2 _

HOME LY 15V3x3=1073

ROLHEZEXETDH & T —

2 — 2 \ A
X'=30°- (10/3) =900-300=600 »
=105 =24. 49 ’ -

e

X
150mDEXFI3I0mDEXDSRELRDMND,

BEfRIZ24. 49Xx5=122. 45

L7zMoT, 122, 45+150=272. 455272

LoT, @m&F272mée, OR1F=273m”R2DT, |/
INNEZ LD, —

% K8, 1BE
ZFEEER English version g ——

*The Pythagorean theorem is used to equilateral triangle that has resulted from by connecting
the center of the circle.
One side is 30 cm So, height
902 =452+x2
x2=8100—- 2045=6075
Because three times the diameter 90cm is 30 cm, 77.85+30X3=167.85=168
Therefore, the height 168cm. Than 5 feet 6 cun = 168cm, this is the answer.
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Using the way which asked one question eye for the height of the

figure in a plane in this book of Japanese mathematics, two questions § Ltz HLTEz . HEETE-EILETEELLA

of way of thinking which finds the height of the solid by an eye is
written. | assumed the length of the diameter 1 measure and was
finding the height using the ratio from there both.
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The apparatus as which a thing is guessed like today EEH R EBE Author : MASHIOTokiharu

wasn't developing, so the old person was astonished
that various things are being checked using the formula
of the mathematics.

To find it cooperated with a person of a group, and
thought to say to understand when using its formula,
and was very fascinating.

A machine was developing, so it tended to be the
reliance bounds to that, but present-day we thought
you weren't supposed to lose Tsutomu who considers a

thing like an old person. IH‘E . gggj:%




